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Yekaterinozavodsk Great Well

About a month ago two teams of the Ural State University returned from the Yekaterinozavodsk training camp.
This northern city impressed them so much that they decided to return there by any means. A well-known city legend says that
the more covers of sewerage manholes you throw into the famous Great Well, the earlier you return to Yekaterinozavodsk. The pr
have already collected a lot of manhole covers from city streets and now they want to know how many of them can be thrown into t
It is known that the Well's aperture and all manhole covers in Yekaterinozavodsk are circles, squares, or equilateral triangles. The co
regarded as absolutely flat, and you may rotate and move them in space in any way.

Input

Let us denote a circle by 1, a square by 2, and a triangle by 3. This number will be the type of the figure. The size of a circle is its radius, th
of a square or triangle is the length of its side (the sides have equal lengths). The first line contains two numbers: the type and the size of t
Great Well's aperture. The second line contains an integer N, which is the number of manhole covers collected by the programmers, 1 <N
These covers are described in the next N lines: each of them contains the type and the size of a cover; the numbers are separated with a spac
Sizes of all figures are integers in the range from 1 to 100.
Output

Output the number of covers that are small enough to be thrown into the Well.

ifficulty 144



Problem

Well’s shape and size

Object’s shape and size







To find maximum space, | used Pythagoras
Formula to find. And used value x itself as minimum space (z)




X+ X

No matter which side you rotate,
circle will always have same maximum and minimum space, which is
X + X.




x/2

Maximum space of triangle is x itself
Minimum space can be found with Pythagoras




import math
s, L = list(int(x) for x in input().split())

if s ==1:
L*=2
elif s == 2:
L = math.sqrt(2 * (L ** 2))

ans =0
n = int(input())

for i in range(n):
a, b = list(int(x) for x in input().split())
Ifa==1:
b*=2
elifa == 3:
b = math.sqrt(b ** 2 - ((b / 2) ** 2))

if L>=b:
ans +=1

print(ans)
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